SRBLA1TO®

ORADESR 1 RT20Y FLFAPKTRRERE L ET

A HILR Y TRE7 « FHILEE RBR—T XYk

10A298 () R b=F A MEEHR

30

[ =] * m
— w oo o 9
| 552 %=
] e WE
e e |l Al &8/ &
PtEl o ©%8 =
<Rl R|ALiiiliill
, = ™ = ™ = ™ W =
-AE‘ L 8] em m [ 2 ] ne M LB ] LR 3 ar 1F
e | W e
& =) ) i () ) ) e @ S
g - whozosdE o w
X B gruraumn _ CH
- VRS a £
F— m L —nO®o- - __._i._.. MM
Mq_. O weaanaraang # &
| ) T
gl rerr il v o Hia
il - - e
3 EREEERNR Y
& [z =i s e e
] Uno>o-~ E EK
= = gREMTEHEIUL | ax
n | e o, e g
EEHKERM D8N | s
LhOoroa-E 4 ’
= 2 <heHANIRoANE B
= C =
N 00> el JM
N . Y KRR ENREERE 1y
B | II_H_
s it Bl = ™
.m * _EE AONERERMR
ahoroed
E H ﬁ%muﬂ:yﬁ»épr% % <
b i e e e s g &
ohO* =g sy 5
L snunasnEsRE< 10 & o
. & =
b ot i e i E =
e - ot i
BXHANINDADED “_.w_._ -
A Ty WY N HHH
e ONO* -8 T mm
1] CANYIDIAAPI ANE! W o
_ e — 1 E EEE
n Aa™OF b -
- "8 mesxswan 4 | es
_ “ & Bhosees ||_+_Im1 = o
| =R - I -
I P =]
=1 wREERKT "m
_ uhOorosE I“m.- -
B pongrgrar 1y
i
T i B
ERCEr :

B EEE A—N HS :




Ty L FRAESREER(10A228)
EH2F—LANBBEORBEN—F AV MR

11

ST

-1

0-0 0-1 50 | 2|11 3 1-3 0-3 42 |1[3]0]3 5
-8 0-7 1—2 31 [ 1153|0313 4 3 40 = -1 22 |30l 1]10]8]|®
0-0 720 10 50 [ 3]0 110[13|0] 31 -2 24 57 [1]3|0]3]-5]4
1-0 21 01 40 [3]1]0]9]5 (@ 30 -2 = 43 [3]1]0]9]5]®
05 -3 05 0-4 0l 4lo0o0l-16]5 | EES T 24 2-2 75 34 121 4l-1]3
=] N4 B & 1% A% = B mxs B » ! n&% B + H AZs = B mxaz B
3-4 5-0 3-4 1-0 | 2]2]0|6|4]3 - = 0-7 0-2 35 |1]3]0]3[-9]4
43 32 31 a1 |4lololi2] 7] -3 05 1-4 43 [1]3]0]3[=9]5
05 23 0-8 222 o311 -4 5 |l 70 50 01 61 |3 1]0]9]16|Q]
43 -3 80 31 [3]1]0]9]09 (@ 220 = -0 41 [ 4lslol12] 90D
01 1-4 2-2 -3 o[ 31 [1]-6]4]|ES: 5-3 34 -6 -2 i13]0l3l-7]3
= = B R (A = i B B mxax B G7AvY |HHE(A) |esswwnne | =ssxmeac| pegs e | 7 RaXE| B | B | 5] || sen| 156
51 -1 1-5 42 |2111]17]2]3|[RAERA -3 33 26 22 |0[2|2|2|6]4
-5 -3 05 21| 11303 |-10] 4| [ssmwmsno] 31 31 3-3 21 |30l i1]10]5]|®
= 1 30 6-1_| 3] 0] 110[ 10| |[Zrrmesc] 33 -3 0-3 30 |12 1423
51 5-0 03 750 [ 311009 13]@][eremen] 62 3-3 30 30 [3]0]1[10[10][®D
24 1-2 -6 0-7 0l 4[00[-15]5 | [Frak®E 22 1-2 03 03 o[3[1 11715
& & HiEH E A % 8 el il (Hoavy | 2A5%E| Euihic|srAmzc| /NR3a [Avzoanc| B | B | 5] |Ba]exe=|iEs
5-0 4-0 6-0 61 | 4]0]0]12]20]|0)]||[FaleEr -5 0-4 0-3 03 |o0l4lo0]o][-14]5
05 =1 -5 15| 0] 311 [-13] 5| [Emmmc] 51 43 3-2 30 | 4]0]0[12] 9 D]
04 = = 1261 0] 2] 2] 2] 9] 4] [strmec] 40 34 5-0 21 _[3]1]0l9]9]®
06 51 = 12 112 1]4]=3]3]|[ /523 | 30 23 05 i2 |1[3]o0[3][-4]4
1-6 5-1 6—1 2-1 3 1 0 9 5 @ FyxToB)C 3-0 0-3 1-2 2-1 2 2 0 6 0 3
FEEBTF—L | FRBBTF—L |
ATE et -1 : T TR
s 1828 FEE240
. I FEihL INTFHKE FiR14L
= 8d A Xt 2y
BIAYY  iEB) 62 15 FIOYY  pmagie) Eea.mb
) IR D49HC FRIGL HESZHYEL | P2l
By S = o = X
CTRYY  orga(A) B2 RA TNy mEEmwEm (5)] TR
sy et ar e (A) 2R " E@EmhiEC FEIAL
DIRYY  mpm g 62 75 HORYY g rXmRc | Faef




